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The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer any four of the following questions :
1x4=4

o] R e w61 2 T fam

(a) Define rank correlation.
Y TS TR faa o

(b) Find geometric mean of 8 and 2.
8 & 27 ¥TATes Ny Tferea |

() Define median.
R Feeel g o



(d)

(e)

9

(2)

Find range from the following :
wote il O o[ AR Sfeler :
150, 100, 200, 400y

What is skewness?

Sl 2

Mention one merit of scatter diagram.

4Pf foag b1 @9 o T

Can correlation coefficient be greater
than one?

TR BT GFOLP GeT T AN ?

(h) Wha is parameter?
oT5e 15 2
2. Answer any three of the following questions :
2x3=6
@R R e bt epm Teg fiat -
(@) Write two uses of MS-Excel.
MS-Exceld 751 IR2T o4t |
(b) Find mode from the following data :
O T 9] I Sfered
X f (frequency)
CARE))
S 2
10 6
15 13
20 7
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(c)

(d)

(e)

Mention two
arithmetic mean.

ST MY TO1 SPRY Sra 34 |
Mention two measures of dispersion.

Regaer o1 et SEy 0

What do r =0 and r =1 mean?

(3)

disadvantages of

r=0%%F r =1 & a2

Distinguish between an estimate and an
estimator.

R F AT ed NH [y 4w

3. Answer any two of the following questions :

5x2=10
worg R GIC Yot 2pes e o
(a) Find median from the following data :
o O 1 Y Sferea
Marks No. of Students
(7R) (TR R)
10 8
20 15
30 22
40 20
S0 10
60 S
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(4) (S)

(b) Explain the merits of mode as a (b) Find arithmetic mean :
measure of central tendency. e Yy Sferea :
FEN 2RToR ol Rowsl I @PIR WM X f
Al 0-10 5
() Find harmonic mean from the ;g ~ g(()) ;g
following : ~ 30 — 40 30
wee fraRfas zaree T Sfe 40 - 50 20
50 - 60 10

5, 7, 10, 13, 15, 20, 25, 28
{c) Find mode from the following data :

d) Explain the difference betw
(d) Explain the een mean S —— Shiedl -

deviation and standard deviation.

e Room o Tme Roewa Wew =i Size of Garment No. of Persons Wearing
M1 (coregea () (FPricered 1’ )
28 10
(e} Explain the main features of 29 20
Spearman’s rank correlation coefficient. 30 40
abis e og 31 65
il & RITIR QA T (IREFTR 22 50
33 15
() What is an unbiased estimator? (d) Calculate standard deviation from the
Explain. following data :
TR FeF 9 I 37 | TAY ©UF °[ e Roew Sferean ¢
4. Answer any three of the following questions : Profits (¥ Lakh) No. of Companies
10x3=30 S (71 5F19) (G111 71’)
oo | cre Fofibt ey e iy 0-10 12
- 17
(@) What are the quaht1es of a good 10-20 23
: 20-30
average? Discuss. 30 — 40 39
<1 ST T4 @R R R 2 e 204 | 40 - 50 16
50 - 60 03
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(6)
(e) Calculate Karl Pearson’s coefficient of

skewness :

7 PEReR SifFor e Sfted :
X f
12-5 28
17-5 42
225 54
275 108
325 129
375 61
42-5 45
475 33

() Discuss how scatter diagram method is
used for studying correlation.

SoE SE A 2 o ms s
- TR, A

(g) Find Pearson’s correlation coefficient
from the following data and interpret
the result :

oo ©UR ol PR TR QIRe Sfeied
W FHAECO! T 4

Marks in Economics Marks in Statistics
(TS 75) (1R7301 R 759)
48

45
35 20
17 40
23 25
47 45
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(7)

(h) From the following data, obtain the two
regression coefficients :

SR S 141 TR GIRE Y01 Sferea :

o bh B NN
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